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Research is:

Options :

1. Search again and again

2. Finding solution to new problem

3. Working in a scientific way to search for truth of any problem.
4. None of the above
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In the process of conducting research “formulation of hypothesis” which followed by
Options :

1. Statement of objectives

2. Analysis of data

3. Selection of research tools

4. Collection of data
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How to judge the depth of any research by research?
Options :

1. By research title

2. By research Methodology

3. By research duration

4. By research objectives
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Which of the following methodology is being used in empirical research?
Options :

1. Inductive method

2. Deductive method

3. Initiative method

4. Scientific method
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The personalized and contextualized references are permissible in which type of reporting of research?
Options :

1. experimental research

2. historical research

3. ethnographic research

4. survey based research
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Research conducted to find the solution for an any initiate problem is: -
Options :

1. fundamental research

2. analytical research

3. survey research

4. action research
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Research, which follows a case study method is called:
Options :

1. clinical or diagnostic

2. caused

3. analytical

4. qualitative
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A hypothesis which develop while planning the research is:-
Options :

1. A Null hypothesis

2. A working hypothesis

3. A Relational hypothesis

4. A descriptive hypothesis
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The process not needed in experimental research is: -
Options :

1. Reference collection

2. Controlling

3. Observation

4. Manipulation and replication
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Formulation of hypothesis may not be necessary is:
Options :

1. Survey Studies

2. Fact finding (Historical) studies

3. Experimental studies

4. Normative studies
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Which of the following statical test is used to determine if there is a significant relationship between two variables?
Options :

1. T-test

2. ANOVA

3. Correlation coefficient

4. Chi-square
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Poisson distribution is applied for: -
Options :

1. Regular random variable

2. Constant time variable

3. Discrete random variable

4. Irregular random variable
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What are the variable whose calculation is done according to the weight, height and length, known as: -
Options :

1. Flow Chart variables

2. Discrete variables

3. Continuous variables

4. Measuring variables
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Specialized processes such as graphical and numerical method are utilised in which of the following?
Options :

1. Education statistics

2. Descriptive statistics

3. Business statistics

4. Social statistics

Question Number : 14 Question Id : 5400732314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frg 3 forerd Ry Forerel e <ReTees WRIFTG wad ) Sl 22
Options :

1. Qefre wifea!

2. qUATHS Hiftad!

3. JUNT iRy

4. AT HiRksTeh!

Question Number : 15 Question Id : 5400732315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The mode and mean are given by 5 and 6 respectively. Then median is:
Options :

1. 17/3.

2.13/3.

3.23/3.

4.33
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The standard normal distribution has:
Options :

1. Mean = 1 and standard distribution = 0
2. Mean = 0 and standard distribution = 0
3. Mean = 1 and standard distribution = 1
4. Mean = 0 and standard distribution = 1
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Which measures of the central tendency include the magnitude of scores?
Options :

1. Mean

2. Mode

3. Median

4. Range
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Which of the following is not a type of research design?
Options :

1. experimental design

2. descriptive design

3. correlation design

4. probability design
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A “pilot study” is also called a: -
Options :

1. descriptive study

2. feasibility study

3. correlation study

4. explanatory study
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Which of the following should not be a criterion for a good research protect?
Options :

1. Demonstrates the ability of the researcher

2. Is depended on the completion of other protects

3. Demonstrates the integration of different fields of knowledge

4. Demonstrates the skills of the researcher
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Bibliography given in a research protect report:
Options :

1. Shown vast knowledge of the researcher

2. Helps those interested in further research

3. Has no relevance to research

4. All of the above
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Authenticity of a research finding is its:
Options :

1. Originality

2. Validity

3. Objectivity

4. All of the above
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Which technique is generally followed when the population is finite?
Options :

1. Area sampling technique

2. Purposive sampling technique

3. Systematic sampling technique

4. None of the above
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Manipulation is always a part of:
Options :

1. Historical research

2. Fundamental research

3. Descriptive research

4. Experimental research
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Action research is: -

Options :

1. An applied research

2. A research carried out to solve immediate problems.
3. A longitudinal research

4. All of the above
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The process not needed in experimental research is:
Options :

1. Observation

2. Manipulation and replication

3. Controlling

4. Reference collection

Question Number : 26 Question Id : 5400732326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TS e B o vifohan & s e Bt 32

Options :

Question Number : 27 Question Id : 5400732327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

When a research problem is related to heterogeneous population, the most suitable sampling method is:
Options :

1. Cluster sampling

2. Stratified sampling

3. Convenient sampling

4. Lottery sampling
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In research methodology, interpretation is the search of:
Options :

1. Statistical data

2. Research Problem

3. Research Finding

4. Research plan
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A long essay as a single piece of work is called:
Options :

1. Research report

2. Monograph

3. Dissertation

4. Book
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Switch off the following is an optional supplement of a research paper?
Options :

1. Foot note

2. Appendix

3. Glossary

4. Bibliography

Question Number : 30 Question Id : 5400732330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

9 & O 01 U 2NY U BT dhieid b g2
Options :

191G o

2. ISy

3. YD

4.9y gt

Question Number : 31 Question Id : 5400732331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The report submitted when there is a time lag between data collection and presentation of result is called:
Options :

1. Thesis

2. Interim report

3. Summary report

4. Article
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Which of the two terms can be used together in a research article as per journal requirement?
Options :

1. introduction and acknowledgement

2. result and discussion

3. method and discussion

4. methods and references
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Methodology in grant proposal:
Options :

1. must be addressed in detail

2. must be brief

3. need not be discussed

4. just need the name of method
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Informal report is used for:

Options :

1. Longer documents

2. Shorter documents

3. Academic paper

4. All of the above
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A list of “Headings” and “Appendices” of the report is called
Options :

1. Table of content

2. Acknowledgment

3. Summary

4. Abbreviation
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
i » T R Y e R &
Options :

1. fowa g=t

2. 3HR

3. AR

4. TEUIER
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“T’ Test is a significance test that assesses:

Options :

1. The means of two independent groups

2. The median of two dependent groups

3. The modes of two independent variable

4. The standard deviation of three independent variable
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In to how many types can be classify measures of depressions?
Options :

1.3

2.4

3.5

4.6
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What is the formula for measuring skewness in a database?
Options :

1. mean — median

2. mode — median

3. C3 (mean — median I standard deviation

4. mean — mode I standard deviation
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Which of the following is a principle of experimental research design?
Options :

1. Maximizing treatment variance

2. minimizing error variance

3. Maximizing error and minimizing treatment variance

4. Maximizing treatment and minimizing error variance
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Field work based research is classified as:
Options :

1. empirical

2. historical

3. experimental

4. biographical
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The primary data collection method that involves tracing behavior over a period of time is called:
Options :

1. Browsing

2. Observation

3. Sampling

4. Testing
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

foreft Tg o SgagR &1 ud A & fore urufies St ugur fafdy e &:
Options :

1. ST

2. 3facli

3. AHAT

4. TRie0T

Question Number : 42 Question Id : 5400732342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Two types of research data include:
Options :

1. Recognised and unrecognised data
2. Structured and unstructured data

3. Qualitative and quantitative data

4. Organised and processed data
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Data, that are collected or sourced from the Internet is called:
Options :

1. Documentary sources of data

2. Interval secondary sources of data

3. External secondary sources of data

4. All of the above
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Question Number : 44 Question Id : 5400732344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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Data collected from an archive or the record of an organisation, is called:
Options :

1. Interval data

2. Secondary data

3. External data

4. Primary data

Question Number : 44 Question Id : 5400732344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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The data contained in the national income estimates and census of population done by the government is called:
Options :

1. Interval data

2. Secondary data

3. Primary data

4. External data
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Which among the following is an open source software for data analysis?
Options :

1. SPSS

2. MATLAB

3.R

4. MINITAB

Question Number : 46 Question Id : 5400732346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
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2. MATLAB

3.R
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
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When is set of possible answers to select for a question in given to a respondent, it is called:
Options :

1. open ended question

2. classical question

3. filtered question

4. fixed choice question
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What is the relationship between sample size and the standard error?
Options :

1. The standard error decrease as the sample size decrease.

2. The standard error in unaffected by the sample size.

3. The standard error increase as the sample size increase,

4. The standard error decrease as the sample size increase.
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To calculate relative standard deviation:

Options :

1. Only standard deviation value is required.

2. Only value is required.

3. Both mean and standard deviation values are required.

4. Both mean and standard deviation values are not required.
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Compute the standard deviation of the following numbers: 5, 6, 4 and 2
Options :

1.1.7

2.2.7

3.12

4.42
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Which of the following cannot be used as an adsorbent in Column adsorption chromatography?

Options :

1. Magnesium oxide

2. Silica gel

3. Activated alumina

4. Potassium permanganate
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In gas chromatography, derivatization is desirable to
A. improve the thermal stability of compounds
B. enable interaction with carrier gas
C. introduce a detector-oriented tag into the molecule
D. remove contaminants

Identify the correct statements.

Options :
1.AB
2.B,C
3.AC
4.A,D
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Options :
1.A,B
2.B,C
3.AC
4.A.D
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In reversed phase HPLC, there is a
Options :

1. non polar solvent/polar column

2. polar solvent/non-polar column

3. non polar solvent/non-polar column
4. none of these
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The structure that corresponds to the most stable conformation of the

following compound is

cl \EO jCI
o Ra WA o

Options :

Cl
NASTA
Cl

cl cl
Cl 0
o cl
cl
cl
cl
3.
cl o]
50
cl Cl
4.
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Which of the following method can be used for the measurement of change in weight of the oxysalts?
Options :

1. Thermoelectric analysis

2. Wagner analysis

3. Stockbarger analysis

4. Thermal analysis
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Match the observed principle absorption in the visible spectrum shown in List-I
with the bond shows this absorption in List-II

List-I List-II

(1) o-c* (1) C-C
(2) n-c* (1) C-O
(3) n-m* (111) C=0
(4) m-m* (iv) C=C

Options :

1. 1-(i) ,2-(ii) ,3-(iii) ,4-(iv)
2. 1-(i) ,2-(iii) ,3-(ii) ,4-(iv)
3. 1-(>i1) ,2-(i) ,3-(iv) ,4-(iii)
4. 1-(iv) ,2-(ii) ,3-(iii) ,4-(i)
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(1) o-o= (i) C-C

(2) n-o+ (i) C-O

(3) n-m+ (ili) C=0

(4) m-me+ (iv) C=C
Options :

1. 1-(i), 2-(ii), 3~(iii), 4-(iv)
2. (a) 1-(i), 2-(iii), 3(ii), 4-(iv)
3. 1-(ii), 2-(i), 3-(iv), 4-(iii)
4. 1-(iv), 2-(ii), 3(iii), 4-(i)
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Among the isomers of C4H6 given below, the compound which exhibits an absorption band at 3300 cm-1 in the IR spectrum is
Options :

1. 1,3-butadiene

2. 1-butyne

3. 2-butyne

4. cyclobutene
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An organic compound (MF:C8H100) exhibited the following]l H NMR spectral data: 6 2.5 (3H, s), 3.8 (3H, s), 6.8 (2H, d, J= 8 Hz), 7.2 (2H, d, J= 8 Hz)
ppm. The compound among the choices, is

Options :

1. 4-ethylphenol

2. 2-ethylphenol

3. 4-methylanisole

4. 4-methylbenzyl alcohol
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Separation of ions in mass spectrometer take place on the basis of which of the Following?
Options :

1. Mass

2. Charge

3. Molecular weight

4. Mass to charge ratio
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Which of the following are true for electron microscopy?

Options :

1. Specimen should be thin and dry

2. Image is obtained on a phosphorescent screen

3. Electron beam must pass through evacuated chamber

4. Specimen should be thin and dry, image is obtained on a phosphorescent screen and electron beam must pass through evacuated chamber
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The kinetic energy of the photoelectron energies is dependent on of the atom, which makes XPS useful to identify the oxide state.
Options :

1. Mass

2. Charge

3. Chemical environment

4. Volume
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In the context of WHO Air Quality Guidelines, consider the following statements;

I.  The 24-hour mean of PM 2.5 should not exceed 15 pg/m® and annual

mean of PM 2.5 should not exceed 5 pg/m>.

Il. In a year, the highest levels of ozone pollution occur during the periods
of
lll.  inclement weather.

IV.  PM 10 can penetrate the lung barrier and enter the bloodstream.
V. Excessive ozone in the air can trigger asthma.
Which of the statements given above are correct?

Options :

1.1, Il and IV
2.Tand IV only
3.10, IIT and IV
4.1 and II only

Question Number : 62 Question Id : 5400732362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

WHO arg orae fgenfadei & d@gsl A, feaiai@d suel R =R oY,
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Options :

1L I 8IR IV
2. PIA1 3R IV
300, 11 3R IV

4. PIA13RI

Question Number : 63 Question Id : 5400732363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How to minimize the pollution of water pollution due organic chemicals that release to water bodies?
Options :

1. To remove all the aquatic organisms from the water



2. To purify water manually after released to the water bodies
3. Purify the water before enter the water directly from industries
4. Leave the water bodies without using it

Question Number : 63 Question Id : 5400732363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

S Tl & BT I aTd FTe-d IS UGN 6 HRS o, T3 H ot TgHUT &I bdl B a1 Se
Options :

1. 9 & 92 STt Sital &1 §1eR HesTan

2. 5 T B BIS M & 915 UM &1 A-g3d 70 U Y& HA

3. I O i U H U=y B 9 ugd U Bl Y Y

4. TGN ! fa T IUAT 62 Bl &

Question Number : 64 Question Id : 5400732364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Organic agriculture advocates avoiding the use of
Options :

1. Organic manure

2. Stored water

3. Modern technologies in harvesting
4. Chemical fertilizers

Question Number : 64 Question Id : 5400732364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sfad Py F IUGNT A T2 Bl IHTAd Bl &
Options :

1. Sfd% @G

2. Gufed oid

3. ®eTs § 3nyfie denfafear

4. TP RSB

Question Number : 65 Question Id : 5400732365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In the application of DTA and DSC which of the following parameters is measured for the glasses?
Options :

1. Concentration of the glass

2. Solubility of the glass

3. Cooling temperature

4. Transition temperature

Question Number : 65 Question Id : 5400732365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST 3R e & Sy & v $ forg Fafefad § 3 i a1 trefier [ s 82
Options :

1. g 1 Higdl

2. BTd DI geT=iterdl

3. 38T B BT ATAM

4. FpHUI YA

Question Number : 66 Question Id : 5400732366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following order is incorrect for the rate of E2 reaction?
Options :

1. 5-Bromocycloheptene >4-Bromocycloheptene



2. 2-Bromo- I -phenylbutane >3-Bromo- I-phenylbutane
3. 3-Bromocyclohexene >Bromocyclohexane
4. 3-Bromo-2-methylpentane >2-Bromo-4-methylpentane

Question Number : 66 Question Id : 5400732366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

E2 Ufaforan &1 &) & fore Fafafed # 9 oF 91 %0 Tad 82
Options :

1. 5 ARG > 4- SRR

2. 2-S-31TE T feee > 3-5H1-311S-feree T

3. 3-SANIEe R > ST g o

4. 3-5H1-2- U@t > 2-sH-4-furgaded

Question Number : 67 Question Id : 5400732367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Correct order of stability of free radicals (I-1V) is

.  H,C=CH-CH>
. Mey;CH
lll.  Ph
IV. PhsC

Options :

LI>IV>II>11
2.IV>1>1>1I
3.IV>1T>1>11
4. 1IV>1>11>1I1

Question Number : 67 Question Id : 5400732367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
HFd HUN I Eaar &1 qgr Fa (I-1V) ¢
.  H,C=CH-CH,
.  Me,CH
. Ph
IV. PhsC

Options :

LLI>IV>1I>1I1
2.IV>1>1>1I
3.IV>IT>1>11
4. IV>1>11>1I1

Question Number : 68 Question Id : 5400732368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



How are the following compounds related?
H_‘,C/ Br CH)‘

,’[ CH; /( P Br

. P \\ 7 3 B

H \B,- H CH;
Options :
1. A-A, B-A
2. A-hv, B-A
3. A- hv, B- hv
4. A-A, B- hv

Question Number : 68 Question Id : 5400732368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frafaf@a dasFas afafranst & fow smaas od AB &
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B
Me = e
e
\ Me -

H

Options :

1. A-A, B-A

2. A-hv, B-A
3. A-hv, B-hv
4. A-A,B-hv

Question Number : 69 Question Id : 5400732369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

How are the following compounds related?

H;C Br L CH;
A ; Br
g TN ; 3 B
H Br H CH
Options :

1. Diastereomers

2. Enantiomers

3. Meso compounds
4. Identical

Question Number : 69 Question Id : 5400732369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Options :

1. SRR
2. TASR
3. B A
4. {1

Question Number : 70 Question Id : 5400732370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Advanced waste water sludge constitutes which of the following?
Options :

1. Chemical and biological solids

2. Biological solids

3. Settable solids

4. Chemical sludge

Question Number : 70 Question Id : 5400732370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

I SR o Hras Fafefad # ¥ forget 1o+ HRar 2
Options :

1. IRE SR Sfdw o

2. Sifdd 3

3. ST A 31 gard

4. S DTS

Question Number : 71 Question Id : 5400732371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
How bacteria help in metal extraction?
Options :

1. Oxidation of ore

2. Reduction of ore

3. Assimilation

4. Accumulation

Question Number : 71 Question Id : 5400732371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

g Frsepfor & SfaTu] b webR FeTadl Bdl 87
Options :

1. 3D BT TR

2. 3YIH DI AU

3. HTHITH T

4. Gy

Question Number : 72 Question Id : 5400732372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
According to TURI which tool is used for determining aquatic toxicity?



Options :

1. P2SD

2. P3SFD

3. P20ASys
4. P20FR

Question Number : 72 Question Id : 5400732372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TURI & SR Seid fauraddt &1 feRor & & o foret Iues=or o1 SuinT fasan Sirar 82
Options :

1. P2SD

2. P3SFD

3. P20ASys

4. P20FR

Question Number : 73 Question Id : 5400732373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not a pillar of sustainable development?
Options :

1. Economic

2. Social

3. Environmental

4. Technological

Question Number : 73 Question Id : 5400732373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
frafeea o 9 SIF Jad e &1y T8 82
Options :

1. 3

2. TSR

3. GOfaROT

4. ApTeB

Question Number : 74 Question Id : 5400732374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following substrate is not used by methanotrophic or methane producing bacteria to oxidize methane?
Options :

1. Methanol

2. Formaldehyde

3. Methane

4. Carbon dioxide

Question Number : 74 Question Id : 5400732374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frafafad o 2 fog gsae o1 Suan Menieithe a1 HidT Idres Saciiar gRT HidT & STaiidmR0 B4 & forg T8t fvar wrar §
Options :

1. YT

2. BIACSERS

3. 11T

4. I STSSHIRS

Question Number : 75 Question Id : 5400732375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following is not an example of a natural biodegradable polymer?



Options :

1. Collagen

2. Polyvinyl alcohol
3. Lignin

4. Natural rubber

Question Number : 75 Question Id : 5400732375 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. pice

2. UlefifaTSe feebleel

3. faf

4. UIpTadh W&

Question Number : 76 Question Id : 5400732376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

For getting a large amount of proteins to crystallize, which of the following should be used as an expression system?
Options :

1. Bacterial system

2. Yeast systems

3. Eukaryotic systems

4. Both eukaryotic and bacterial systems can be used

Question Number : 76 Question Id : 5400732376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

IRCICIYGE]

2. e Reew

3. gobiRAlfee Yueit

4. gHRARH SR JadtRad gl gonferdt &1 IudiT faran S Tavan 8

Question Number : 77 Question Id : 5400732377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which among the following processes are not included when Xenobiotics are transformed into the metabolism of an organism?
Options :

1. Oxidation

2. Reduction

3. Hydrolysis

4. Photosynthesis

Question Number : 77 Question Id : 5400732377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. SHTeIepRuT

2. 3{U=g+

3. gIE g

4. YT AW

Question Number : 78 Question Id : 5400732378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
A piston cylinder is compressed with some pressure, what is the work done on the system?



Options :

1. Positive

2. Negative
3. Zero

4. cannot say

Question Number : 78 Question Id : 5400732378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e e Ridex &1 $© gara ¥ Ihfed fasar S &, yormeht v fosan man s aam 82
Options :

1. HPRIHD

2. APRIHD

3.3
4. T8 B8 gpbal

Question Number : 79 Question Id : 5400732379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following plays a role in depletion of incoming solar radiation?
Options :

1. Irradiance of the incoming solar radiation

2. Dispersion

3. Solar flares

4. Nuclear fusion in sun

Question Number : 79 Question Id : 5400732379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 3T 91t IR faferzor &1 fafesor

2. aa

3. 9R Sarend

4. g8 B TRYTY] Yo

Question Number : 80 Question Id : 5400732380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following are examples of woody biomass?
Options :

1. Fallen trees due to natural disasters

2. Mint

3. Columbine

4. Agricultural by products

Question Number : 80 Question Id : 5400732380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fraffad & | B g2 ST & ITeru e
Options :

1. VTpfcds 3TUarsf & SRR U s

2. gdHT

3. Picifad

4. Py I

Question Number : 81 Question Id : 5400732381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following are the reactions in which molecules absorbing light do not themselves react but induce other molecules to react?



Options :

1. Free radical reactions

2. Chain reactions

3. Reversible reactions

4. Photosensitized reactions

Question Number : 81 Question Id : 5400732381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 9ot gasb Ufafehang

2. g ufaferarg

3. gfaadt ufafsarng

4. HRNIREESS ufafeang

Question Number : 82 Question Id : 5400732382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following UV radiations is responsible for causing sun burns and skin cancer?
Options :

1.UV-A

2.UV-B

3.UV-C

4. All of the mentioned

Question Number : 82 Question Id : 5400732382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fraffad & @ &1 T gdt fafes=or 4o & @ &t Sia, @ $ER e 3 & g SR @

Options :

1. gat-u

2. gdl-at

3. gt

4. Jfcxfad qit

Question Number : 83 Question Id : 5400732383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The ‘Miracle Material’ that can turn CO2 into liquid fuel is:
Options :

1. Propene

2. Copper

3. Graphene

4. Potassium

Question Number : 83 Question Id : 5400732383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

THBR FFUT S CO2 P TR 47 H Fae Habell ¢ I8 o:
Options :

1. o=

2. T

3. T

4. UreRrm

Question Number : 84 Question Id : 5400732384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which treaty was signed in 1987 for the protection of ozone layer?
Options :

1. The Montreal Protocol

2. The Kyoto Protocol

3. Ozone Summit

4. Wildlife Conservation Act

Question Number : 84 Question Id : 5400732384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SIS IR BT YR&M & T 1987 H fpd i R gxmer fvd T 2
Options :

1. Hif=ad Uietebla

2. FCI GeIblel

3. 3NSIH RReR gw e

4. ISIIG TREH0T SfAfTH

Question Number : 85 Question Id : 5400732385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not the outcome of man-wildlife conflict?
Options :

1. Damage to human property

2. Increase in the forest area

3. Injury and loss of life of humans and wildlife

4. Destruction of habitat

Question Number : 85 Question Id : 5400732385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frofoiad & @ &1 91 gH9-a=rela wad &1 aRkom 78 82
Options :

1. A4 U &I Jhae

2. g A H gl

3. AT 3R Fial 1 die 3R Sftad &1 g1

4. 31T BT faT=T

Question Number : 86 Question Id : 5400732386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is called for the natural habitats under in-situ conservation?
Options :

1. Unprotected areas

2. Depleted areas

3. Exploited areas

4. Protected areas

Question Number : 86 Question Id : 5400732386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

in-situ TREMUT P S UTpTaes ATl B! 31 Bl ST 82
Options :

1. SRRI&T &t

2. @HGUEH

3. ST &=

4. W &=

Question Number : 87 Question Id : 5400732387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Which of the following is an organochlorine insecticide?
Options :

1. Gamma BHC

2. Bethrin

3. Diuron

4. Mameb

Question Number : 87 Question Id : 5400732387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fafifed & 9 o1 a1 ST Ples 82
Options :

1. 77T St

2. §f3A

3. SRH
4. °TAS

Question Number : 88 Question Id : 5400732388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following process involves super-aeration of groundwater?
Options :

1. Biosparging

2. Bio-accumulation

3. Bio-degradation

4. Bio-magnification

Question Number : 88 Question Id : 5400732388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fafafea & 2 frw uftsan & ysTa &1 guR-aTa- md 82
Options :

1. STATTRofT

2. Sa-g9a

3. ig-FEieR

4. 3g-3MaeH

Question Number : 89 Question Id : 5400732389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which base is generated due to the deamination of adenine?
Options :

1. Guanine

2. Cytosine

3. Uracil

4. Hypoxanthine

Question Number : 89 Question Id : 5400732389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR & SR & SR T &R IO BT 2
Options :

1. 731

2. WIS

3. R

4. B3R

Question Number : 90 Question Id : 5400732390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In vertebrate DNA, which base is frequently present in place of cytosine on which methyl transferase acts?
Options :

1. Hypoxanthine

2. 5-methylcytosine

3. Xanthine

4. Adenine

Question Number : 90 Question Id : 5400732390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. FTSURIRA

2. 5-FUTEARKIRE

3.9

4. TsSfH

Question Number : 91 Question Id : 5400732391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Why are ecosystem services important for sustainable development?
Options :

1. Due to increase in population

2. Due to decrease in population

3. Due to increase in forest area

4. Due to increase in animals

Question Number : 91 Question Id : 5400732391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. e ® 3fg & BRI

2. ST H HH P BRI

3.3 A A G F FROU

4. ORIt BT H=HT H gig & HROT

Question Number : 92 Question Id : 5400732392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which is not a type of intellectual property?
Options :

1. Trade secrets

2. Trademarks

3. Home loans

4. Copyrights

Question Number : 92 Question Id : 5400732392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. AUR ey

2. CEHTS

3. e BU

4. HIIRTSC

Question Number : 93 Question Id : 5400732393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



In which article is intellectual property rights outlined?
Options :

1. Article 15

2. Article 27

3. Article 13

4. Article 20

Question Number : 93 Question Id : 5400732393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

e Har SRR e srede § ST &2
Options :

1. 33 15

2. 3[4 27

3. 3G 13

4. TG 20

Question Number : 94 Question Id : 5400732394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which technique is commonly used for the fabrication of nanoparticles?
Options :

1. Sedimentation

2. Filtration

3. Distillation

4. Lithography

Question Number : 94 Question Id : 5400732394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 3qdled

2. e

3. 3Haq

4. fardime

Question Number : 95 Question Id : 5400732395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is not used as a tool for Nanotribology studies?
Options :

1. Compound Microscope

2. AFM (Atomic Force Microscope)

3. STM (Scanning Tunneling Microscope)

4. SPM (Scanning Probe Microscope)

Question Number : 95 Question Id : 5400732395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Diftres geare=it

2. TUHTH (URHTY S HIEhIPIY)

3. THETH (Wb Tl AEpe)

4. THUITH (IBTHIT AISHRDIY)

Question Number : 96 Question Id : 5400732396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



The characteristics of condensation polymerization are given below-
.  only —-C-C- linkages present in the polymer structure

II.  use of bifunctional or polyfunctional monomers

lll.  elimination of a small byproduct molecule

Which of the following is true?

Options :
1.1, 1L 11
2.1l and III
3.Tand II
4. Only 111

Question Number : 96 Question Id : 5400732396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1 IL 111
2.1 3R 111
3.18R 1
4. %ad 11

Question Number : 97 Question Id : 5400732397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following kind of polymers are known for their high crystallinity?
Options :

1. isotactic

2. syndiotactic

3. atactic

4. none of the mentioned

Question Number : 97 Question Id : 5400732397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 3rgHiefaee

2. Ritsiefdes

3. 3icfdes

4. D1 TRN

Question Number : 98 Question Id : 5400732398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What does the ratio of the mass of water vapour to mass of air indicate?
Options :



1. Absolute humidity
2. Specific humidity
3. Relative humidity
4. Approximate humidity

Question Number : 98 Question Id : 5400732398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

ST P A 3R aTg b GoH BT U T STl &2
Options :

1. ot 3kt

2. fafRry amsen

3. o S

4. SFTAT 3MTeEar

Question Number : 99 Question Id : 5400732399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is neither an acid nor base?
Options :

1. KCl

2. CH30H

3. HCl

4. CH3COOH

Question Number : 99 Question Id : 5400732399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T A I PT T I @ era § MR T &2
Options :

1. KCl1

2. CH30H

3. HCI

4. CH3COOH

Question Number : 100 Question Id : 5400732400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the complete IUPAC name of the following substance?

H
a1lOH

-
p—

HaC ’6H

Options :

1. (1R,3S)-1-methylcyclopentane-1,3-diol
2. (1S,3R)-1-methylcyclopentane-1,3-diol
3. (18,3S)-1-methylcyclopentane-1,3-diol
4. (1R,3R)-1-methylcyclopentane-1,3-diol

Question Number : 100 Question Id : 5400732400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



fArfaf@d gered &1 qu IUPAC arH #Far 872
H
"IOH

H,C ::éH

Options :

1. (1R,38)-1-Tugeaagadded-1,3-S™d
2. (18,3R)-1-THUEaAZ TG - 1,3-S—A
3. (18,39)-1-TuTsaaEadue-1,3-s™d

4. (IR 3R)-1-THUIEAHRFANTUCH-1,3-S1Id




